16
25

36

49

64

81

100
121
144
169
196
225
256
289
324
361
400

ALGEBRAI Lesson

-Simplifying Radicals: Recall that to simplify a radical, you must be familiar with the

numbers that are perfect squares, which are listed in the margin at the left. The
roots are 1 through 20. Follow the procedures and examples below to help solve
the problems that follow.

@ Is %/bumé&" u/n{zr-#e szada/aer@l 55,-,@/”@?
TP it is, take th square roct and itV e
root wrthoat +hs vodical éjméol.

EX: V—Z—J":D’
m =/2

@ I #e humézrunlu’,ﬁ(é ma/tﬂ /s not a /ﬂﬁf&c'/'égua/‘a,

ch/ / 5{' ,A,L/‘«QG Ila’ uare W?é ([/é/(/js /77'/0 FhAo
nzwéw— :4:{;3 Write sé/\l number as a)omclud'_

Eie \/_;I— /nﬁa,urfad :s@uzu@

\[3; - \/71_ The 24 s wn//er\ as 4 6 éldm
Y s Ha /4gﬁ" puerbect sguare
Hat ﬂm It 24 ,euen/}

m :m - 2\(: '//d—lg ‘ffu JZ‘M&’J"& I\DDI[ 7% -f&ld}‘or\—
that s the Jar /'/o,gr a‘/'l"éﬁuare
and write Haf root sutside o Ho
radicad . Keep vho OYker fastor

Bt L tnder o padiaad.
ilj__cl has no paamtofs 422]»1 a‘ld s i PUCMJL? wvks

e perleet spuares
Ahgwer e mains Y Same . e Jﬁ F e

EX: V—Z; :WF \7:\/}7



Worksheet - Simplifying Radicals. Simplify each radical completely. The first two have
been done for you.

1. J125=4255=5\5 2. 288=v1442=1242
3.0 90 |

5. 36

7. 216

9. a5

11. /88

13. /76

15. <104





















Solving Linear Equations

Remember the goal in solving a linear equation is to get the variable alone on one side and
everything else on the other. This is a step-by-step process, which is outlined below.

Simplify each side of the equation separately.

. If the variable is on both sides, add or subtract to get the variable on one side
of the equation. If the variable is eliminated in this step, look at the equation

you have. Ifitis true, write identity. Ifitis false, write no solution. Move to

Look at the side of the equation with the variable and undo, the operations
that have been done to the variable. This usually means to undo any addition

or subtraction first then undo any multiplication or division,

Step 1:
Eliminate parentheses
Combine like terms
Step 2:
the next problem.
Step 3:
Step 4: Check your answer.

Prample:

I+ 2(2)( +.$‘\) = b (X-‘S +3

3+4X+10 = X -6+3

4x +13 = ©X=3

.ﬁ’”_— "‘/X
/3 = 2K-3
+3 +3
I = 2%
’3: 2
55 A

E)(amp//ﬁ X;‘:fe — q

S/Xx+\ - g,

(“5’ > A9
X+6 =45
=y =%

e
X =31

(‘,chl '.

(8 -t\* 3

é."}%j

3+2(2'6*§’3

i-n

312(/&:%’\
42+ 3

Zds
Zys

F+2-2\

3+42
45~

/{/O?l"% ke division )J' undoe
Cl‘ﬁs'l‘ n \//KIS e)\dm'd/&.l A

Chuek

_ ?
376 - 9

> ?
= 7

e

~
S
9
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FID Assignment: Solving Equations Date Period

Solve each-equation.
SHOW ALL WORK!

1) 3x+2=11 2) -4=6-2x

5) 8x—4=-60 6) —10+%x=—14

7) 5(1 +3x) =50 8) x—4=-9+x

9) 22=-Tx—6+11x
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